[This question paper contains 8 printed pages.]

Sr. No. of Question Paper : 7917 GC Your Roll No................
Unique Paper Code 212271101

Name of the Paper : Introductory Microeconomics

Name of the Course : B.A. (Hons.) Economics

Semester 21

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2.  Question No. 1 is compulsory.

3. Attempt any four questions out of question 2 to 7.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. Attempt any five parts : (5%x3)

(i) Assume that Rahul’s income is Rs. 48,000. He can purchase 6,000 units of
_cheese or 8,000 units of bread if he spends all his income either on cheese
or on bread. Find the slope of his budget constraint if we measure the
quantity of bread on the horizontal axis and the quantity of cheese on the
vertical axis.
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(i) What will be the relationship between two goods whose cross price elasticity

is negative ? Why ?

(iii) How does increase in price of flour affect the equilibrium quantity and price

of bread ? Illustrate using diagram.

(iv) If a perfectly competitive firm has a total cost function C =450 + 15q + 2q?
(q is quantity produced by the firm). The market price (P) of the commodity
is Rs. 115 per unit. Find the quantity produced by the firm.

(v) Explain output effect and price effect on a monopolist’s total revenue.

(vi) How is the rental price of a factor different from its purchase price ?
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2. () Why is the production possibility curve bowed outward ? Illustrate using a
diagram. Do all the points on the production possibility curve represent the

efficient level of output ? Explain. (5)

(i) What is consumer surplus ? Assuming that the market for laptops is in
equilibrium. Suddenly an invention reduces the cost of desktop computers
which reduces their market price. Show the impact of this change on the
laptop market and the change in consumer and producer surplus in this
market. %)

(i) Can the government easily distribute the burden of payroll tax as
per their will between the firm and the worker ? Explain using suitable

diagrams. (5)
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3. (1) Consider a market in which the demand and supply functions are respectively
given by : P =100 — 0.2Q% and P = 40 + 0.1Q* (Where P is price and Q¢
quantity demanded and Q® quantity supplied.) Determine the elasticity of
demand and supply at market equflibrium. (6)

(i) If government imposes an effective rent control in a city how its impact will
be different in short run and in long run. Using suitable diagrams explain why

the impact is different in these two different time periods. (5)
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(1) Using Laffer curve explain the relationship between size of the tax and tax
revenue. Also explain the relationship between deadweight loss of taxation
and the size of the tax. 4
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4. (1) Seema decides to shift from auto rickshaw to taxi for her daily commuting
from home to office because of increase in her income. If the price of
auto rickshaw travel decreases then what will be the change in the

demand of auto rickshaw. Explain using income effect and the substitution
effects. (7)

(i) Suppose you take a job that pays Rs. 5,00,000 per annum. You can put this
income in a savings account that pays you an annual interest rate of §
percent. Use Indifference curve and budget constraint diagram to show how

your present consumption changes in each of the following situations :

(@) Your salary increases to Rs. 1,00,000.
(b) The interest rate on your bank account rises to 10 percent.

(c) Your salary hike and increase in.rate of interest takes place

simultaneously. (3+3+2)
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5. (1) Derive the short run supply curve of a competitive firm with the help of
suitable diagram. 4)

(i) Given the long run average cost curve, if a perfectly competitive firm
is earning positive economic profit in short run, what will happen in long
the run? Will the firm continue to earn the same positive profit or not ?
Explain. (5)

(1) Suppose that there is a perfectly competitive industry where all the firms
have identical cost curves. The representative firms total cost is given by :

TC = 400 + q* + 2q (where q is the quantity produced by the firm)
Market demand and supply curves are respectively given by the equations ;

Qd = 8,00,000 — 4000P and Qs = 5,00,000 + 3500P (P is market price and
Qd is market demand and Qs market supply.)

(a) Find the equilibrium market price and market quantity.

PTO.
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(b) Find the firm’s profit maximizing level of production, total revenue,
total cost and profit at this equilibrium. Is this a short run or long run
equilibrium ? Why ? (2+4)
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6. (1) Explain why does market failure arise when a firm has monopoly power in

the market ? (3)

(1) What is natural monopoly ? Explain why a monopolist can’t be forced to

charge a price equal to its marginal cost ? (4)

(1)) The demand curve for a monopoly firm is given by Q = 100 — 0.5 P.
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Marginal cost (MC) of the firm is constant at Rs. 40 and total fixed cost is
Rs. 300.

(a) Calculate the profit maximizing price, quantity, profit and deadweight
loss for the monopolist, if the monopolist charges uniform price from

all the consumers.

(b) Assume that the monopolist can practice perfect price discrimination.

Now calculate his profits and consumer surplus ? (5+3)
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7. (1) Derive the demand curve for labour in a perfectly competitive factor market,

assuming that commodity market is also perfectly competitive. (5)

(i) Explain how the marginal product of one factor depends upon the
quantities of all other factors used for the production. Also explain how the
change in the supply of one factor will affect the equilibrium price of other
factors. (5)

PTO.
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(iii) Explain and show the impact of (a) increase in output price and (b) labour

saving technological change, on labour demand curve. (5)
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